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Part A: Vnca_l;;lar}r and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.
Then mark your choice on your answer sheet.

[ Part B: Cloze Test

She's not very --------- - in the way she treats her children; they may be punished today for
something they were rewarded for yesterday!

1) dominant 2) restrictive 3 ) consistent 4) proportional

She has the -—————- of being one of the few people to have received an honorary degree from
the university this year.

1) extraction 2) detection 3) distinction 4) simulation

Financial ---------- on the company are preventing them from employing new staff.

1) resolutions 2) deductions | 3) approaches 4) constraints

The pattern -——-— from our analysis of the accident data shows that bad roads are
responshible for the majority of accidents.

1) occurring 2) assuming 3) identifying 4) emerging

The changes to the national health system will be

- next year; people won't have fo
worry about long waiting lists for hospitals anymore.

1) converted 2) intervened 3) accompanied 4) implemented

The course is essentially theoretical in-—---—-- , but you'll need some practical work experience
before you can apply for the job.

1) process 2) function 3) orientation 4) exploitation

The report suggests that there has only been a(n)

improvement in women's pay over
the past few years.

1) ultimate 2) eventual 3) marginal 4) enormous
She gave me this jumper, which she had —~------- herself.

1) knitted 2) knitted it 3) been knitted 4) been knitted it
The teacher suggested that Ali -———---—-- the lesson at least twice before taking the test.
1) reviews 2) review 3) reviewed 4) reviewing

He was in such bad shape and asked for my help. It was impossible to -=--=—--- -

1) refuse 2) refusing 3) refused 4) be refused

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Hurricane Floyd, one of the most powerful storms ever (11) ---------- in the Atlantic, has pounded
the Central Bahamas and set its sights (12) ---------- Florida. The storm brought heavy rains and
strong winds of up to 200 kph., (13) ---------- residents sought refuge in boarded up homes.
Forecasters say Floyd is capable of (14) ---------- destruction and the states of Florida and Georgia
have ordered more than two million people (15) --------- - the Atlantic shoreline.

1) recoding 2) to record 3) recorded 4) was recorded

1) to 2) on 3)in 4) from

1) as 2) that 3) whose 4) which

1) mass 2) a mass 3) the mass 4) that mass

1) evacuated 2) to evacuate 3) for evacuation 4) evacuating




C: Reading Cnmpréhensian

Directions: Read the following passages and answer the questions by choosing the best
lchoice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PassageI:  The Formation of Oil

Although no one has yet been able to show how oil is formed, it is generally
accepted that it is a decomposition product of various forms of organic debris.
The evidence on which this opinion is {founded is worthy of careful examina-
tion, for even now responsible opinions are advanced secking to show an
inorganic origin.

It m'ight be thought that there is little point in discovering the mode of -
formation of oil and it is true that even if the process were known it might
‘have little direct influcnce on the amount of ncw oil found. Nevertheless the
search for petroleum in process of formation will and must continue, because,
although the quantities of crude oil already discovered, and the quantities we
can reasonably expect still to be discovered in the future, arc sufficient for the
world’s need for many years, the total quantity of crude is finite and sometime
it will bé necessary for an alternative to be found. An understanding of the
natural processes of formation might enable synthetic processes 10 be de-
veloped which might well be able to produce petroleum or something very
like it from animal or plant material which could be farmed to provide a
constant and annually renewable supply.

The evidence provided by the crude oil itself is somewhat ambiguous.

16- According to the text, there is liftle value in discovering the mode of formation of oil because

it - the discovery of oil.
1) determines 2) has nothing to do with 3) is slightly related to 4) postpones

17- We understand from paragraph one that the word “debris” is closest in meaning to .
1) animals 2) plants 3) rocks 4) waste

18- According fo the author, an alternative for oil can be synthesized if
1) the process of oil formation is fully understood
2) the process of formation of oil directly affects the discovery of oil
3) the oil consumption becomes reasonable
4) the total quantity of crude is finite
19- We conclude from the text that the world is seeking -
1) an appropriate supply of o1l
2) an alternative for oil
3) a full understanding of the process of formation of oil
4) recoverable quantities of crude oil

Passage II:

The study of petroleum pollution in the ocean deals with two potentially
ﬂppﬂsling aspects of man'’s activities: on the one hand is pollution arising from
activities undertaken to meet man’s needs—the extraction, transport, and use
of petrnleum for energy and chemical feedstocks~and on the other hand is the

strong desire 10 prﬁse.m living marine resources both for current uses and for
a legacy for future generations.




Ui a4l

20- According fo the text, the phrase “pollution arising from activities undertaken to meet man’s

needs ...” means —-—-—. :
1) man has undertaken activities in the oceans to modify his needs
2) man is contaminating the oceans to satisfy his needs

3) man is trying to contaminate the oceans with the help of his needs
4) polluting of the oceans satisfies man’s needs

21-  According to the text, the word “legacy” here means:

1) abundance 2) heritage 3) productivity 4) richness

Passage III:

22-

23-

24-

Within recent years the technology involved in marinating conditions for maximum oil TECOVery
from a field has been studied intensively under the name of reservoir engineering. Perhaps the most
important requirement is the maintaining of pressure in the reservoir. In the undisturbed formations,
the pressure is due to gas associated with the oil (in solution, with or without additional gas
separated at the top of formation-gas cap) or to water at the bottom or sides of the oil body in the
reservolr, or to both. If wells penetrate this system and are allowed to flow unchecked the natural
pressure 1s likely to be dissipated while there is still a good deal of oil unproduced. This situation
can be helped by control of the rate and method of oil removal: it is important that oil be withdrawn

at such a rate that natural water at the edges of the formation will have time to keep orderly pace
with production.

Form the text, it can be inferred that reservoir engineering is a technology which is mainly
involved in .
1) studying intensively the undisturbed formations

2) maintaining of pressure in the reservoir

3) providing appropriate conditions for oil recovery

4) considering a good deal of oil fields not yet produced
The underlined word dissipated in this context means:

1) dissolved 2) removed 3) scattered 4) vaporized
According to the text, the phrase “this situation” refers to the :
1) unchecked flow of wells 2) wells penetrating this system

3) existence of a good deal of oil unproduced 4) dissipation of the natural pressure

25- According to the text, the underlined phrase “oil removal” here means: _
1) withdrawal of 0il ~ 2) transfer of oil 3) departing of oil 4) decreasing of oil
Passage IV:

26-

L2

The importance of the correct sampling of crude oil which usually contains light hydrocarbons
cannot be overstressed. Properties like the specific gravity, distillation yields, vapour pressure,
hydrogen supplied content, and octane numbers of the gasolines are affected by light hydrocarbon
content so that suitable cooling or pressure sampling methods to be used and care taken during the
subsequent handling of the oil in order to avoid the loss of any volatile components. In addition,
adequate records of the circumstances and conditions during sampling have to be made, for

example, in sampling from oilfield separators, the temperatures and pressures of the separation
plant and the atmospheric temperature would be noted.

The word “which” in the first sentence refers to .
1) sampling method 2) light hydrocarbons

3) importance of sampling 4) crude oil

We understand from the passage that samples from different oil fields may have different
properties because of the - ‘ -

1) atmospheric pressure

2) difference in pressure and temperature of the medium

3) hydrocarbon contents

4) volatility of the components




28- If oil is not correctly handled, it may

29-

1) lose volatile components 2) have to be depressurized

3) demand a special cooling technique 4) drop in light hydrocarbons

Light hydrocarbons are of great importance because they determine ---- of the
crude.

1) the yields 2) the pressure

3) the volatile contents 4) the important properties

30- The first sentence implies that the importance of the correct sampling of crude oil

1) should be demanding 2) should be recorded suitably
3) is of reasonable significance 4) is of great challenge
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